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1. ogbobboooobbbao

Wy =" (2)y/sinz = yeosz, y(5) = 1
Y
(3)y’ + 2% = Doy =z +y
(5)zy +2y =3z, y(1) =1 (6) Bz +2y+1)de+ (2x —y—4)dy =0
(7) (cosz + 2zy)dx + 2°dy =0  (8)y +y ==, y(O) 0
(9)zy +y =sinz (10) 2y’ + 4y = x~*
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Doy =e™—y (v=zy) 2y =@@+e'—1)e? (u=z+¢Y)
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r—y—1 6r —2y — 3

Dy = T
Dy 20 + 2y — 1

(2)y =

r—2y—1
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(1) sinydr + cosydy =0 (e*)  (2) (2zy* —y)dz +xdy =0 (y?)
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x )
(l)y’+xy:§ (2)?/+E:$2?/3

00000 ¢+ Qe4+1)y—y?=1+2+220000000000000y=20
000000000000

(a) z=y—20000000000000000D000000000OO

(m(@DDDDDDDDDDDDwzéDDDDDDDDDDDDDDDDDD
0oo0

(¢) (h)0DOODOOOOOO000OO

(d) 00000000

7. flr,y) =2y 0 D={(z,y)|0< |z| <a,0< |y| <0} 000000000000
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(D) f@) =1 (2) f(t) = M
B)fO)=U(t-A) (A>0) @ f()=t"@OOO00)
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9 1
(1) f(t) = at® + bt + ¢ (2) 1) = —= (>0
@ fO)=Ut=A)A>0) () f(t)=t"(ODDOO)
(5) f(t) = eritr (6) /(1) = e sin A
(7) f(t) = tsin A (8) f(t) =txe

ooo0oo ft+MN 0O ft—N)OD00DODODODDOOOCOOOOOOOOOOOOO
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M f@) =t (2 ft)=¢
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(1) Fls) = 5 Q) F() = 5
B Fls) =7 1/\)2 () Fls) = %
(5) F(s) = ——— (6) F(s) = ———

(s 4+2)(s2+1)
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(1 ()—31’() e*, x(0) =2

(2)2"(t) — ()+9-’E(t)=0 z(0) =1, 2'(0) = —1
(3) 2" (t) + 42/ (t) + 4x(t) = 0, z(0) =1, 2/(0) = -3
(4) 2"(t) — 32/ (t) + 2z(t) = 1, z(0) = 2/(0) =0

—_
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(2) 2" (t) + 32/ (¢ ) 4x(t) =0, z(0) =0, z(1) =
(3)a”(t) — o' (t) — 2x(t) = 3e*, z(0) =0, z(1) = ¢?
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Y1) -2 =0 a(0)=5

Wy -2 =0 y0)=1
2) 2/ (t) + 3x(t) + y(t) 0 2(0) =0
_102(8) + /(1) = By(t) = 2 y(0) = 0



